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269,675
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57,650

HH HD W
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284,863
269,365
579,413
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284,000
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600,041
240,016
132,009
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600,041

M) H1 AL

600,041
240,016
132,009
228,016

600,041

600,041,000
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600,041
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240,016
132,009
228,016

600, 041
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277,900

540,000
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254,000
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794,000
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397,000
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254,000
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5,400
1,350
4,050

M H1 AL

307 2120l A 10,800 0 10,800
5,400
1,350
4,050
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02 YIS EX 10,800 0 10,800
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5,400
1,350
4,050
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27,045

H
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27,045
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27,045

H
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2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
= 4,163,284
JEd= |4 7,921,025 7,690,734 230,291
= 6,939,568
pJ 23,058
[= 37,392
= 921,007
HedsHESH IME2 1,660,022 1,290,504 369,518
= 1,060,472
[= 4,716
= 594,834
206 K24l 31,440 31,440 0
[= 4,716
= 26,724
01 24l 31,440 31,440 0
o SOOIE AIRAH 22 40,000 * 786% 31,440
[= 4,716
= 26,724
402 BIZHR=0|A 1,628,582 1,259,064 369,518
= 1,060,472
= 568,110
02 CI2HCHEHAFRIH] 1,628,582 1,259,064 369,518
o QJ|& HIZ2 X (23,588E)
1,628,582,000 * 14! 1,628,582
= 1,060,472
= 568, 110
A2 262,358 420,000 A 157,642
= 262,358
301 et Az 262,358 420,000 A 157,642
= 262,358
12 JIEtB A2 262,358 420,000 A 157,642
o ZEH SUXNFHXMEX 262,358,000 * 14 262,358
= 262,358
A= HEXNK 4,400 6,750 A2,350
[= 1,760
= 2,640
307 QIZto|A 4,400 6,750 A2,350
[= 1,760
= 2,640
02 SIHFAER 4,400 6,750 A2,350
o AHIXEHE e HELS
8,800,000 * 1Al x 50% 4,400
[= 1,760
= 2,640
seisd 28 2 oagy 1< 23,637 23,175 462
101 Q1A H] 13,107 12,672 435
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04 JIZHIZ2 RS2 13,107 12,672 435
o AZM dagE 2Z2XES
35,460 * 11 * 30 11,702
o AEE 2 11,702,000 * 12% 1,405
201 Lt AH| 5,830 6,103 A273
01 AFE222|H] 5,830 6,103 N273
< LUk~ EH| > 0
o XEAN S E22
50,000 * 1208 * 23 1,200
o ES sHE(E3F)MMU 228
20 = 15,00000 * 13 300
o X&A =S WKW 1,000 * 800& * 23] 1,600
< ZEH| > 0
o FESFZHIF FA 7,000 = 39 = 80 1,680
o RNBFASHMA SEAEAM 2
7,000 » 158 » 10 1,050
202 OiHl 2,700 2,400 300
01 2| 2,700 2,400 300
o eA=Y =X 20,000 * 3% » 45 2,700
301 Yt A2 2,000 2,000 0
10 SALAIHI B A2 2,000 2,000 0
o XNSASHO WK 50,000 » 40% 2,000
Eetd=s AH=s2 211,200 211,200 0
402 QIZ2tXH=E01A 211,200 211,200 0
02 DI2HCHEH AFIHI 211,200 211,200 0
o RICIAE L HE X
3,300 * 128,000 * 50% 211,200
etHols 99,360 119,880 220,520
< 24,840
= 74,520
301 Yt A2 99,360 119,880 A20,520
< 24,840
= 74,520
12 JIEIEA S 99,360 119,880 220,520
o FSASNE 2SIt AA
165,600,000 * 60% 99,360
== 24,840
= 74,520
MAEBHRS 23,058 29,235 NGB, 177
Dl 23,058
201 LAY 23,058 29,235 NG, 177
J| 23,058
01 AFR22(H] 23,058 29,235 NG, 177
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2N HBBSH
HE: HBAsY AW L3
ool HEYSY S (S92
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o B2
< 2,160
2 5,040
02 QIAAMBE 16,200 0 16,200
o DNEIM IARALH |4 16,200,000 16,200
= 9,000
= 2,160
2 5,040
= ASIIB GYEAIY 750,000 0 750,000
= 750,000
301 YsrPAS 750,000 0 750,000
=2 750,000
12 JIEH2 A3 750,000 0 750,000
o =ASIIB HYSALY 750,000,000 750,000
=2 750,000
e 59 RIls OX x4 4,937,536 6,211,080 A1,273,544
= 1,063,090
= 632, 169
2 3,242,277
MRy SXEY 1,817,470 1,789,530 27,940
= 494,520
2 1,322,950
301 LPBAI 1,430,940 1,600,000 A169,060
= 411,280
2 1,019,660
12 DB A3 1,430,940 1,600,000 £169,060
o JlSa M(BW ZTMBH 20) Mo 23
k! 600,000 * 100ha 60,000
o FEY AZSIF Y 1,370,940,000 * 14! 1,370,940
= 411,280
2 959,660
307 212+0IH 90,000 0 90,000
= 27,000
2 63,000
02 QIRAMBE 90,000 0 90,000
o HHIE #&F RIS JIgEY
120,000 * 1,500ha * 50% 90,000
= 27,000
= 63,000
402 Q12E X 0| F 296,530 189,530 107,000
= 56,240
2 240,290
01 UAREBE 296,530 189,530 107,000
o M MACHK HEX
3,200,000 * 40ha * 80% 102,400
o RIS MEHIIE S4
200,000,000 * 1A * 70% 140,000
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SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
= 40,000
2 100,000
o AYHES AW HD A
108,260,000 * 50% 54,130
= 16,240
2 37,890
SXEL U SHAY 1,081,730 2,183,720 A1,101,990
= 12,888
2 1,068,842
201 LByl 4,560 0 4,560
= 1,368
2 3,192
01 Attt 4,560 0 4,560
o AEYSME WRBY 2A
152,000 * 3024 4,560
= 1,368
2 3,192
301 LHBAI 468,770 0 468,770
12 JIEEN3 468,770 0 468,770
o DEIH MMUX A HADXE
533,540 * 500ha 266,770
o DEOHOIA M THHCSHK MAZHST 202,000
- R 900,000 * 100ha 90,000
- Rsopm 448,000 * 250ha 112,000
307 Q20| 158,400 161,200 A2,800
= 11,520
2 146,880
EEREES 120,000 120,000 0
o SEH ZX 7 X
100,000 * 500ha * 80% 40,000
o SEH AT MM N
200,000 * 500ha * 80% 80,000
06 2&3 38,400 41,200 A2,800
o FEA AHIK AL T
500,000 * 4024 * 80% 16,000
= 4,800
2 11,200
o RJls ZERY MY 22,400,000 * 14! 22,400
= 6,720
2 15,680
402 QIR 20IH 450,000 2,022,520 A1,572,520
02 PIZHHE AL b 450,000 2,017,200 A1,567,200
o HolE ASAF)YH =7 450,000
— LU THHHEHX 650,000,000 * 50% 325,000
- AEFEX 250,000,000 * 50% 125,000
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ool AEY 5% RIls S X4 (Sl &)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O] Ak 4 il b o bRz
ESHTH 23 1,184,610 901,954 282,656
2 829,227
= 118,461
2 236,922
402 DIZHRHROIH 1,184,610 901,954 282,656
2 829,227
= 118,461
2 236,922
02 ©I2FCHEH ARl 1,184,610 901,954 282,656
o EYUNTR KA  1,184,610,000 * 14! 1,184,610
2 829,227
= 118,461
2 236,922
Eene 45,000 287,500 A242,500
402 DIZHRHR O 45,000 287,500 A242,500
NIES S 45,000 287,500 242,500
o BHANSERI X
200,000 * 100CH * 50% 10,000
o DEAZXI K@ 2,800,000 * 25CH * 50% 35,000
PP ESE 467,726 793, 149 £325,423
2 233,863
2 233,863
402 DIZHRHROIH 467,726 793, 149 £325,423
2 233,863
2 233,863
02 ©I2FCHE AR 467,726 793, 149 £.325,423
o =HIRSEXHA 467,726,000 * 14! 467,726
2 233,863
2 233,863
2EY SN 201,000 13,260 187,740
= 6,300
2 194,700
402 DIZHRHR O 201,000 13,260 187,740
= 6,300
2 194,700
IESEEES 201,000 13,260 87,740
o ZAWHII K® 180,000,000 * 2CH * 50% 180,000
o PRI AHEY LXK
21,000,000 * 14! 21,000
= 6,300
2 14,700
AEexe U 5 N 140,000 75,000 65,000
402 DIZHRHROIH 140,000 75,000 65,000
NIESEEES 140,000 75,000 65,000

_11_




SN
M 7

SCERIE

2
J2

2
R
J2H

140,000

H

, 784,406
,515,808

414,261

,854,337

3,652,825

1,131,581

W

,005,770
,382,808

210,369

,412,593

2,203,338

802,432
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82,708
37,219
86,843
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M

206,770
82,708
37,219
86,843

206,770

= HESLHAME

413,540,000 * 50%

MW

206,770

206,770
82,708
37,219
86,843

206,770

1
i
o
o

O

o
2
10
r

o
0Q

in

75,000
22,500

46,250

28,750




SN
X XH .
S Tt

el

- 0¥
Jm o

T

70X
[
0%
Je
08
ton

[Ho o
22
Jm

I

)

o &
S
10 oY

m

0

_>||_|

o

1}
x
bl
bal
e

. R (SAH) - MRAE -

_|
g
0x
I
=
[
2
2
R
12
o
£l
0l%
IS

M

52,500
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H
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497,400
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H MW

402 b= 01M 1,243,500 300,000 943,500
497,400
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671,490

W
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497,400
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AEHE fF=s HSSM XN 80,500 98,500 A 18,000
24,150
56,350

U

402 22t =01 80,500 98,500 218,000

24,150
56,350

U

01 QUARZRE 80,500 98,500 A 18,000
o NHDHE S5 HE LR
7,000,000 * 23ha * 50% 80,500

24,150
56,350

M H1




SN HASHD
Ha: 20) - SH - D ZWY s
Sol R0LSE S4 X (B9l &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
=8 NAA BBAY X 139,000 0 139,000
402 QI XH=0|H 139,000 0 139,000
01 QIAREEE 139,000 0 139,000
o SHB2NXM A
139,000,000 * 14! 139,000
A0l - SH DAL NP 1,778,636 1,449,487 329, 149
= 133,000
< 203,892
2 1,441,744
Al 2104 X & 609,750 368,250 241,500
402 QI XH=0|H 609,750 368,250 241,500
01 QIARZRE 609,750 368,250 241,500
o HIDIEERA BIINE X2
1,250,000 * 905 * 50% 56,250
o HIDIYEIRA ZSOHED N
2,120,000 * S0 E * 50% 53,000
o N&GI2A SOISH AL X2
5,000,000 * 20K E * 50% 50,000
o HIOIYGIRA 287 X
400,000 * 1005 * 50% 20,000
o IR YK X 480,000 x 1005 * 50% 24,000
o B X A 95,000
- ABF Y 2,000,000 * 508 * 50% 50,000
- ZEPF NY 6,000,000 * 158 * 50% 45,000
o HIDIYEIRA X
10,000,000 * 405 * 50% 200,000
o JISHBE N 2,500,000 * 205 * 50% 25,000
o HOHAE X 3,300,000 * 25 * 50% 41,250
o BHAE X 3,620,000 * 25ha * 50% 45,250
SHSK ASTS MAGK E4 76,930 72,500 4,430
= 23,080
2 53,850
402 QI XH=0|H 76,930 72,500 4,430
= 23,080
2 53,850
01 QIARZEE 76,930 72,500 4,430
o BHSK ASHE MUK ELAY
153,860,000 * 50% 76,930
= 23,080
2 53,850
0TS W MDA 76,350 69, 167 7,183
= 20,750
2 55,600
402 QI XHZOIH 76,350 69, 167 7,183




SN HERSID
HE: Q0] - SH - D AW gl
ol ROl SH DAL X (Sl &2)
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
= 20,750
2 55,600
01 pIZXEEE 76,350 69, 167 7,183
o KNS AHA M A
138,333,000 * 50% 69, 167
= 20,750
2 48,417
o DEBI AU MAKA 17,000 * 845a * 50% 7,183
SHXS YYHHD AL 43,200 43,200 0
= 17,280
2 25,920
402 BI2AT RO 43,200 43,200 0
= 17,280
2 25,920
01 pIAXEEE 43,200 43,200 0
o SHNS AWA M A
86,400,000 * 50% 43,200
= 17,280
2 25,920
FTAAPRI M 2142 2 22/l XIR 3,000 1,500 1,500
=2 3,000
201 Lty 500 900 A400
= 500
01 At22relb| 500 900 400
o FIVIZANY 2FERS ME 500,000 500
=2 500
202 01t 2,500 300 2,200
= 2,500
01 2LfoiHl 2,500 300 2,200
o FTAJISBAY &= 2,500,000 2,500
=2 2,500
NHSs SR 24 76,000 76,000 0
= 19,000
2 57,000
402 QIR0 76,000 76,000 0
= 9,000
2 57,000
01 pIZTEEE 76,000 76,000 0
o NHSHES SYHH S8
76,000,000 * 14] 76,000
= 19,000
2 57,000
DAL 125,025 92,170 32,855
= 4,050
2 120,975




2A: EsE3sd
HH: 20 - S - A LG
S Al - S5 BAIE XA (&2 &
- _ _ poE N
2N -3 - c2(3H) - NEME - HES Ol & oK ioﬂ/i\_FOH Hns
201 2EtE3| 3,825 3,720 105
01 AtR22|dl 3,825 3,720 105
< YBtZH| > 0
o it EENC 40 = 10,00008 * 32 1,200
< = EH| > 0
o HSEHYR =X 7,000 » 3% * 125¢! 2,625
202 O4H| 2,700 2,400 300
01 =20 2,700 2,400 300
o SEHYRFA 20,000 = 3Y = 45¢! 2,700
402 I2EXHE0IA 118,500 86,050 32,450
= 4,050
= 114,450
01 2IAXEEX 118,500 86,050 32,450
o 0 MR =4
8,000,000 * 10ha * 50% 40,000
o WHEAXLIREXII(ME20IHE)
6,500,000 * 20CH * 50% 65,000
o ¥ FilEx BAAL
1,000,000 * 27ha * 50% 13,500
< 4,050
= 9,450
s&2 Mol 2E8g K& 183,696 168,520 15,176
== 61,232
= 122,464
307 QI2tol& 183,696 168,520 15,176
T 61,232
= 122,464
06 22 183,696 168,520 15,176
o S&ZE Mol 282 183,696,000 * 14 183,696
< 61,232
= 122,464
NEEHMAANE SUTAY 325,000 390,000 A65,000
= 130,000
< 58,500
= 136,500
402 RIZ2EXFE0IA 325,000 390,000 A65,000
= 130,000
= 58,500
= 136,500
01 QIAXEEX 325,000 390,000 A65,000
o NEZMAAAL SHUSFAMSA 325,000,000 325,000
= 130,000
== 58,500
= 136,500
=2 SIOIH 2 IR X2 179,685 168, 180 11,505




SH: A
Mz 20 -

el 20| -

2
R
J2H

402 Q12

179,685

168, 180

01 QI+

2
o = dollE LAl X

20,000,000 * 10CH

0!

0
e
I
&Y
£
02
S
>
0

1,936,000 = 10CH

o WA HIIMEHM X
1,300,000 » 60=

* 50%

* 50%

* 50%

* 50%

179,685

100,000

9,680

39,000

31,005

168,180

80,000

80,000

80,000

80,000

80,000,000

*
Iz

80,000
80,000

80,000

H S

4,736,078

908, 766

,007,750

137,832

,681,730

5,637,910

A901,832

i

P

st NE

H NS

,182,615

88,250
943,635
69,601

,081,129

4,630,821

A1,448,206

S

UL

,451,925

645,300
40,331
766,294

1,625,800

N173,875

307 2120l &

S

Ml H1

,451,925

645,300
40,331
766,294

1,625,800

A173,875

EEEREES

1,613,250,000 * 90%

S

EURCH

,451,925

,451,925

645,300
40,331
766,294

1,625,800

A173,875

AEH ZAtgdL JIAEH NE

S

U

525,000
210,000

15,750
299,250

1,110,000

/585,000

402 BI2H K2 01&

S|

Ml 1

525,000
210,000

15,750
299,250

1,110,000

/585,000

3
|




A HESESsEL
X

M BN MR A3
&Rl EAsIE X (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
01 QItR=2EX 525,000 1,110,000 585,000
o ZAMB HEM JIH =HH X
1,050,000,000 * 50% 525,000
pJ 210,000
[~ 15,750
= 299,250
TAZ MARD|BE Bt 178,335 174,442 3,893
pJ 85,335
= 93,000
307 QIZto|A 121,335 119,442 1,893
pJ 85,335
= 36,000
02 SIHAAER 8,700 119,442 A 110,742
o MHZXDITHY X
100,000 * 2902 * 30% 8,700
pJ 8,700
05 BIZtRE2 112,635 0 112,635
o AIZ2EZE SIH X 255,450,000 * 30% 76,635
pJ 76,635
o AI2EZ2 ESX XS (U4
200,000 * 1,200ha * 15% 36,000
402 DIZ2HRE0| A 55,000 55,000 0
01 QI2IR=2EX 55,000 55,000 0
o ZALZ THBHEHCH JIXEXH XIS (EIHIAZ D))
8,800,000 * 5CH * 50% 22,000
o EALZ2 THUHECH DX KR (ETWI|. 22
) 6,600,000 * 10CH * 50% 33,000
405 KHAHE SH 2,000 0 2,000
01 ML ESEFSH| 2,000 0 2,000
o XA REAMYUZIX =2=FI| 2
1,000,000 * 2CH 2,000
stnesegal X 12,574 11,926 648
308 XXISHHESOIA 12,574 11,926 648
05 XXICHHIZIRE 2 12,574 11,926 648
o stn RYZA X (2H BE2)
12,574,000 12,574
IIES24ANEXH 5,000 5,000 0
[~ 1,500
= 3,500
402 BIZ2tRH=0|A 5,000 5,000 0
[= 1,500
= 3,500
01 QI R=E=X 5,000 5,000 0
o JI=ESE24+Z MEXNH(X3£D])
10,000,000 * 50% 5,000




2N ABRSTY
=R RN

Sl EisOH X (e @8
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
< 1,500
2 3,500
ELEAWE L FAI|P 2F 650,390 634,740 15,650
307 QI2H0IH 557,890 597,240 39,350
02 DIRIHMBE 201,640 227,240 25,600
o HXEL MHIAT KUK X
6,000 * 12,295.2kg * 70% 51,640
o 4 ABAIE LYFY BZ(R2)
50,000 * 5005 * 40% 10,000
o PYDE WAIAY 400,000 * 2505 * 50% 50,000
o ZMBAMNCH KL (DIMSH)
6,000 * 21,428.5kg * 70% 90,000
05 DIZtSIES 356,250 370,000 £13,750
o ML H2Z X 10,0008 * 3505 35,000
o 82 NEI A3 N2
150,000 * 1755 26,250
o CHAR M4 H3 KR
200,000 * 1,250 250,000
o 4 QB4IE 2YWY TZ(82)
40,000 * 4,5005 * 25% 45,000
402 RI2AX 201 92,500 37,500 55,000
01 pIAX=EE 92,500 37,500 55,000
o SA2 WEE 2B NZD X
2,500,000 * 508 * 50% 62,500
o QM AIEXA(S4+.Z0IME S)
60,000,000 * 102 * 50% 30,000
AEASN AST 60,720 74,320 13,600
= 2,020
2 48,700
301 LBAS 37,920 37,920 0
= 6,320
2 31,600
12 JIEE A3 37,920 37,920 0
o MEAFMES AEXE 63,200,000 * 60% 37,920
= 6,320
2 31,600
307 QI2H0IH 22,800 36,400 A13,600
& 5,700
2 17,100
05 PI2telIEr2 22,800 11,400 11,400
o JIETWHRE JIUXE 57,000,000 * 40% 22,800
= 5,700
2 7,100
HERLHAL N 194,890 454,890 260,000
=2 88,250




A HESESsEL
X

HE: S0 AW U5
Sl EAsIE X EEREED
_ _ MNuE o
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
i 106,640
307 QI12t0I & 42,000 42,000 0
= 21,000
i 21,000
02 BItANEX 42,000 42,000 0
o Y| AZHl X3 42,000,000 = 14! 42,000
= 21,000
= 21,000
402 It X201 152,890 412,890 A260,000
= 67,250
i 85,640
01 It E2LEXL 152,890 412,890 A 260,000
o MHIMEEZXZ 13,600,000 * 844 108,800
= 40,800
2 68,000
o JHE AL (EIHIAL 88,180,000 * 50% 44,090
= 26,450
= 17,640
EESHAMY 79,152 28,500 50,652
402 It XHE01H 79,152 28,500 50,652
01 BIZPGEEX 79,152 28,500 50,652
o B N XNAHALE S)
148,608 * 500 * 50% 37,152
o 88 3= & 120,000 * 700= * 50% 42,000
HNLAS28EE N X3 AL 6,000 6,000 0
Il 3,000
= 3,000
307 21240 6,000 6,000 0
Jl 3,000
= 3,000
02 2ItBAE X 6,000 6,000 0
o HNARHIE NE XA
10,000,000 * 1JH=A * 60% 6,000
Il 3,000
= 3,000
ADJ101==H=H XS 18,629 17,273 1,356
308 XX HHSOIA 18,629 17,273 1,356
05 XXIEM2RES 18,629 17,273 1,356
o 1) OIFFEANN(ZHIRES) 18,629,000 18,629
4|8 2F 1,553,463 1,007,089 546,374
= 820,516
Pl 64,115
= 68,231
= 600,601

_20_




SN SIS
o HM Y Us
Sl EAD|E T (el &2
_ _ _ MuE o
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o bRz
JisgeorE 2y 151,273 114,813 36,460
2 77,701
= 18,044
2 55,528
206 T2 103,273 114,813 A11,540
2 53,701
= 10,844
2 38,728
01 T2 103,273 114,813 A11,540
o o A2 YW K 10 * 1,100,004 11,000
o NEUASAW K& 7,000,000 * 14! 7,000
= 1,204
2 5,796
o JIE Yo HETY(143)
85,273,000 * 14! 85,273
2 53,701
= 9,640
2 21,932
307 2I2H0IE 48,000 0 48,000
2 24,000
= 7,200
2 16,800
02 PINBAEE 48,000 0 48,000
o X WIHOI2A A X
2,000 * 40,0005 * 60% 48,000
2 24,000
= 7,200
2 16,800
JiEYe TSYHME 2l 128,230 128,076 154
| 64,115
= 19,235
2 44,880
206 W2 28,570 28,536 34
| 14,285
= 4,286
2 9,999
01 HEb| 28,570 28,536 34
o TEYRT ASAE B2
28,570,000 * 14! 28,570
| 14,285
= 4,286
2 9,999
301 LB A 99,660 99,540 120
| 49,830
= 14,949
2 34,881
12 JIEtR A3 99,660 99,540 120
o TEYHE SZHl NY 99,660,000 * 14! 99,660

_21_




2A: EsE3sd
M SN IS 25
S FADEE 25 (&2 &
- _ _ poE N
2N -3 - c2(3H) - NEME - HES Ol & oK ioﬂ/i\_FOH Hns
J| 49,830
== 14,949
= 34,881
SOFXl A AHOFE AL 25,280 23,500 1,780
T 7,584
= 17,696
307 QI2tolA 25,280 23,500 1,780
= 7,584
= 17,696
05 IZtRAES 25,280 23,500 1,780
o SO0HA MAH OFH AL 10,000 * 2,528 25,280
= 7,584
= 17,696
NSEEY L 2 132,060 158,940 N 26,880
201 223 8,940 6,220 2,720
01 AtR2t2ldl 8,940 6,220 2,720
< Ydt=ZH| > 0
o JIs&EY oY el=8 100 = 3,0000H 300
o RISE E& L 22| 150,000 * 205 3,000
o d=zdMASso & A=A ME
500 = 3,0000H 1,500
o FENME £ AMZA Mg 2L
20,000 * 254 500
< = EH| > 0
o EMYR Y AE2AL AHE KMl
7,000 * 4% * 100 2,800
o AHAYUS SN 2F
7,000 * 4% * 30 840
202 04 d| 3,600 3,200 400
01 =20l 3,600 3,200 400
o F4& H2 FA 20,000 * 4% = 45 3,600
206 =l 96,000 120,000 A 24,000
01 THZ 4| 96,000 120,000 A 24,000
o FSMSHASAE 2
24,000 * 4,000kg 96,000
301 LeEtE A3 23,520 24,720 A 1,200
12 JIEt2 &2 23,520 23,520 0
o Sx2A AF Y 490,000 * 4% * 123 23,520
SEANLY 9,870 9,870 0
< 3,948
o 5,922
307 QI2t0lA 9,870 9,870 0
== 3,048
iy 5,922

_22_




2N HBBSH
HE: M B 23
ool SADIE PE (el @g
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES (il & OH Ofl At ot HwsZ
05 DI2tSIEr2 9,870 9,870 0
o B SEAY 7,000 * 1,4105 9,870
= 3,048
= 5,922
plE PP oL 30,000 0 30,000
3 15,000
= 4,500
2 10,500
405 XtaHE S| 30,000 0 30,000
= 15,000
= 4,500
2 10,500
01 XHALSEF S| 30,000 0 30,000
o JEYY XY 7Y 30,000,000 * 1CH 30,000
= 15,000
= 4,500
2 10,500
S NI 706,500 174,120 532,380
= 706,500
402 Q12 R0l H 706,500 174,120 532,380
2 706,500
01 DIATG=EE 706,500 174,120 532,380
o EAAL BOIsH AR 2,355,000,000 * 30% 706,500
3 706,500
SRMely g [ 128,250 87,370 40,880
2 21,315
= 14,920
2 92,015
201 Yereg| 18,000 16,000 2,000
01 At 18,000 16,000 2,000
o JEAY YME Hel(BHY Hell)
120,000 * 1505 8,000
206 =l 10,000 5,000 5,000
01 T2 10,000 5,000 5,000
o AXE U ME XM P
2,500,000 * 4% 0,000
301 YsrEAS 100,250 66,370 33,880
= 21,315
= 14,920
2 64,015
12 JIEt2 A2 100,250 66,370 33,880
o A SBRMoty YAUAFE 80,000 * 505 4,000
o 4 S2Moig MEH 7,000 * 10,1505 71,050
2 21,315
= 14,920
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SN FESASEY
dH: ShERSHL
G SAERS IIE 84 (&te &=
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
- HESEAM SHIHHA X
10,000,000 * 43| 40,000
402 BIZHRH=0|A 30,000 0 30,000
02 SI2FCHEHAFIH] 30,000 0 30,000
o NEMMEE SHt2 82
1,500,000 * 20CH 30,000
SA2 ZEH g8 8,000 3,000 5,000
201 LBt Y] 8,000 3,000 5,000
01 AFR22t2/H] 8,000 3,000 5,000
< YbtA2H| > 0
o RHHEEH AlAIAE o
100,000 * 2& * 103 2,000
o XJHEEH EHIHRA 29
100,000 * 32 * 103l 3,000
o SENZE X)) A EES ME
50,000 * 4= * 153 3,000
stpgal Allg X 677,277 674,649 2,628
< 203, 183
= 474,094
308 AXIESHSOIA 677,277 674,649 2,628
[= 203, 183
= 474,094
06 WEIANHSEES 677,277 674,649 2,628
o StIZAATZ KR (550HA)
1,128,795,000 * 60% 677,277
[= 203, 183
= 474,094
A 1A S 2,500 2,500 0
[~ 1,250
= 1,250
307 QI2to|A 2,500 2,500 0
[= 1,250
= 1,250
02 QIZHAAEX 2,500 2,500 0
o TAZMATIES 2,500,000 * 1JHA 2,500
[= 1,250
= 1,250
JRIE02ISE S8 D3N =2 5,000 5,000 0
[~ 2,500
= 2,500
307 QI2toIA 5,000 5,000 0
[= 2,500
= 2,500
02 QIZHAAE X 5,000 5,000 0
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SN AHASHD
N
S SASRS JIPEL (9l & 2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o B2
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